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The two differential equations that describe the Felix model are:
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where Fg is the gravitational force, and Fd is the drag force in opposite
direction, and C(v) and ρ(h) as shown in the question.

I used Forward Euler method to solve these equations with ∆t = 0.1:

hi+1 =hi + ∆t ∗ dh
dt

vi+1 =vi + ∆t ∗ dv
dt

The terminal velocity results from this code is = 3.827332 ∗ 102 m/s.
And the time needed to reach the ground is = 1.696∗102 s. This value
can be gotten from the last value in plot data (h VS t).
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Figure 1: h(t) VS t

2



Figure 2: v(t) VS t
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Figure 3: v(t) VS h(t)
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